MBF 3C – Exam Review Package
Unit 1:  TRIGONOMETRY

1.  Solve triangle ABC where <C = 90o, a = 15 cm, and b = 7 cm.  

2.  Is it possible to solve triangle ABC, given <C = 90 and c = 35 cm?  Explain.  If not, what 

     additional information in necessary?

3.  Use the Sine Law to solve for a:

4. Use the Cosine Law to solve for side c:
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Unit 2: PROBABILITY
1. Describe the difference between experimental and theoretical probability.  What can you do to get an experimental probability that is close to the theoretical probability? 
2. What is the probability of being dealt from a randomly shuffled deck of cards 




a) a black King




b) a 6 or a 9




c) not a 3,5,7 or a face card?  

3.   A box of marbles contains 4 red marbles, 3 blue marbles, 6 black marbles, and 2 yellow marbles.     

      If a marble is drawn at random, determine the probability of not drawing a red marble. Express  

      your answer as a decimal, a fraction, and a percentage. 

4. A spinner is divided into 21 equal sectors, numbered 1 through 21. Determine the probability of spinning a number other than an even number. 

5. Two friends play a game in which they draw a card from a deck of cards. If the card is a face card, the first friend gives the second friend $1.00. If the card is spade, the second friend gives the first friend $1.00. Explain why this is not a fair game. 
Unit 3:  STATISTICS
1. 
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2.  
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3.

[image: image4.emf]
4.
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Unit 4 & 5:  QUADRATICS/ EXPANDING AND FACTORING
1.  Expand and simplify.

     a)  (x + 3)(x ( 5)

b)  (2x ( 1)(4x + 5)

c)  (4x + 3)2
     d)  (3x + 4)(x ( 2) + (5x + 4)(6x ( 1)

2.  Factor fully.

     a)  m2 + 6m + 8

b)  a2 ( 9a + 20

c)  x2 ( 9x ( 52

     d)  b2 ( 36


e)  x2 ( 256


f)  81x2 ( 25

     g)  3x2 ( 21x ( 132
h)  (5x2 + 30x + 135

i)  4x2 ( 80x + 336

3.  Solve the following equations by factoring.

     a)  x2 ( 4x ( 21 = 0
b)  x2 + x ( 56 = 0

c)  2x2 + 108 = 30x

     d)  3x2 ( 6x ( 24 = 0
e)  4x2 ( 16x ( 180 = 0
f)  5x2 ( 45x = 450

4.  A ball is thrown up from the ground.  The height of the ball is given by the equation:
h = (5t2 + 40t, where h is measured in metres and t in seconds.

a) Create a sketch of the path that the ball follows.

b) When is the ball at a height of 35 m?

c) How long does it take before the ball hits the ground?

d) Write the equation of the parabola in the other two forms: vertex form and factored form.

5.  A ball is tossed upward from a balcony.  The height of the ball is given by the equation:  h = (5t2 + 20t + 60, where h is measured in metres and t in seconds.

a) Create a sketch of the path that the ball follows.

b) When is the ball at a height of 75 m?

c) How long does it take before the ball hits the ground?

d) Write the equation of the parabola in the other two forms: vertex form and factored form.
6.  The effectiveness of an internet pop-up is based on how many viewers it receives per day.  There is an optimal number of hits and beyond this the effectiveness drops off.  The effectiveness can be described by the equation:


E = (2n2 + 18n + 44   where E represents the percent effectiveness and n represents the number of viewers in millions of people. Determine:
a) the maximum effectiveness and how many people are needed to achieve this

b) the number of viewers needed to make the pop-up 80% effective

c) when the pop-up is 0% effective

Unit 6:  EXPONENTIAL  FUNCTIONS
1.  True or False?


a)  Linear growth shows increase by a constant amount each time period.

b)  Exponential growth shows increases by a constant factor each time period.


c)  Exponential decay show a decrease by a fixed amount each time period.


d)  Quadratic growth is confirmed by unequal first difference and equal second differences.

2.  Evaluate.  Write your answers as integers or fractions.

a)  
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d)  
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e)  
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3. Classify each as exponential growth, exponential decay , or neither.
a)  
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4. Graph 4a and 4d.
5. A towns racoon population is growing exponentially.  The expected population can be estimated     

      using the relation 
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, where P is the population and n is the number of years.

a) What is the current raccoon population?

b) What is the expected population in 5 years?
Unit 7:  GEOMETRY IN DESIGN
1. Look at the buildings in your neighbourhood. Identify geometric

shapes that you see in the construction of these buildings. In

particular, describe the use of shapes other than squares or rectangles.
2.Think about musical instruments that you have seen. Geometric shapes

are present in the design of many musical instruments. List several

instruments, and identify the geometric figures used in their design.
3. 
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4.  
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5.
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6.
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Unit 8:  COMPOUND INTEREST
1.  Substitute the values into the formula 
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.  Do not evaluate.
a) a $600 investment at 7% per year, compounded semi-annually, for three years.

b) A $4000 loan at 9% per year, compounded quarterly , for five years.

c) A $6000 loan at 8.4% per year, compounded monthly, for three years.

d) A $1200 investment at 4.5% per year, compounded semi-annually, for two years.

2.  Erik needs to borrow $2000.  Which loan should he take?  Justify your response.

a) $2000 for three years at 10% per year, compounded semi-annually

b) $2000 for three years at 9.2% per year, compounded quarterly.

3.  If $4000 is invested for 10 years, what annual interest rate, compounded semi-annually, would 

     double the money?

Unit 9:  PERSONAL FINANCE
1.  Describe one advantage and one disadvantage of using a credit card.

2.  A luxury import dealership claims its vehicles retain 92% of their value each year.

a) Determine the value of a 3 year old, two door convertible that sells for $36 000 when new.

b) Determine the value of a 5 year old, four door sedan that sells for $87 000 when new.

3.  An eight–cylinder van has an 80 L fuel tank and a fuel efficiency of 12.2 L/100 km.

a) Explain the fuel efficiency rating.

b) How far can the van travel on one tank of fuel?

c) How much fuel would the van use on a 425 km trip?

4.  List the advantages and risks (low, moderate, high) of each investment option.
a) GICs
b) Mutual funds

c) RRSPs

5.  List the various expenses for obtaining and operating a vehicle.  Classify each as a fixed cost or  

     a variable cost.  

Answers:

Unit 1: PROBABILITY

1. Theoretical Probability:
This is the mathematical probability that can be calculated without actually doing the     

                                                    activity.

    Experimental Probability:
The probability that you have observed when performing an experiment. 




=
  number of times that the event occurred 





number of trials

2.  a)
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3.  0.733; 
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4.  
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5. There are 12 face cards out of 52 in a deck with a probability of .  
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 or .231 as compared to  
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 or 0.25 probability of        

    picking a spade.

Unit 2:  STATISTICS

1. a)

b) 

c)
2. a)

b)

c)

3. a)


b)

c)

4.
a)


b)


a)


b)

Unit 3 & 4:  QUADRATICS/ EXPANDING AND FACTORING

1. a)

b)

c)

d)

2. a)   b)   c)   d)   e) f)  g)  h) 

3. a)  b)  c)  d)  e)  f)  

4. a)b)c)d)

5. a)b)c)d)

6. a) b) c)

Unit 5:  EXPONENTIAL FUNCTIONS
1. a) T  b) T  c)  F  d)  T

2. a)  b) 1  c)  
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3. a)  exponential decay  b)  neither (quadratic)
c)  exponential growth  d)  exponential decay
4. a)  1250 raccoons  b)  1333 raccoons
Unit 6:  COMPOUND INTEREST
1. a)  
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2. He should take the loan b) because a) will cost him 2680.19 and loan b) will cost him 2627.47

Unit 9:  PERSONAL FINANCE
1. Answers will vary – see class notes
2. a) $28032.77  b) $57340.09

3. a)  fuel efficiency is the amount of fuel the vehicle burns per 100 km.  b)  c)  51.85 L
4. a)  low risk, guaranteed money back, smaller minimal amounts needed to invest, short term  b)  moderate risk, balanced portfolio, c)  moderate risk

5. lists will vary; examples include:  insurance (F), fuel (V), maintenance (V), 
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